TR27FE H£1E HEBHTRA L o« BE [BE - #5)

(BEME] ROBFRIZEZAGTS,

_0\2_ 42
(1) (-2)*—4 5

5
B) L6 DFEABEEZEALGEL,
4) 1kRAERX x-5=3x—-1 ZRELIL,

(5) 2RABR 2?-52x+3=0 EMELIL\

ERELESL, () lxzy+£xy EEHELAEL,

(HEDR L]

) BEOHANTESA,

) BEXDBVENRTE SN,

) EHREEZAOIDA,

) 1 REBXNBITEH.

) BOAXNZEANT, 2 RAERIMNRT I,

(1) (—2?2—42=4—-16=—12

T.2,.2 T2’ 22y T2’y 5 T
@) gFyrgry="5 Ty T g ><ny_z

(3) 2T HLI6 LB BEID, +4
(4) 2—-3x=-145 &Y, —2x=4 &£oT, z=-2 B
(5) BoOARKY,

_ —(=5)++/(=5f—4-1-3  5+/13
xX= 21 =

2

5+/13 o

&£2T == B

[ZAME] ROEMBIZEZBEL,
(1) BX2+3y+2y+y—1I1220T, 2 ITBEHLEEZORMEEHIEE
KOG T,

(3) (5xly)?ixxy EHELAIWL,
(4) ROXZERBEALGEL,
@ 3x%x%-2x+3) @
® (x—y+1(z+y+1) @
(5) ROREEMSMLASLY,

(22+5)3x2—1)
(224 4)x+2)(x—2)

(2) A=x2+2x—1, B=2x*—2-3 &3%, 2A-3B)—(A-TB) ZHELLZEL

o

D 8x%y—62y? @ x*—2xy—6y2
® 3x2-10x+8 @ (x-7%-3(x—7)—10
® x%+3xy+2y%+2x—y—15
[HEDR S L]
(1) BEDOXFICEBLTREEEHENEA NS D,
(2) Z2EADHENRTELS,
(3) WEEMZERATZEN,
4) BEADEFMNTZED,
(6) ZEXOAVAIBNRTEZSH,
(%]

1) zITEBLTEBETEE, 2923+ y2+(y—1)
o T, R¥(E 3, TEHAEK y—1

(2) 20A—3B)—(A—TB)=2A—6B—A+TB=A+B
&oT, A+B=(2%+22—1)+(2x%2—2—3)=3x*+x—4

(3) (5239 xxy=254%y2x xy=252"y3

4) @ 3x%(2x2—22+3)=3x*—62°+92% B
@ (22+5)3x—1)=6x2—2x+15x—5=6x2+13x—5
@ (x—y+lx+y+l)=(x+1—plx+1+y THY,
2+1=A £BE (A—y(A+y)=A2—y?
=(x4+12—9p2=224+2x+1— 2
=x22+2x—3y%+1
@ (?+4)(x+2)(x—-2)=(x>+4)(x*—4)=(2??-4"=2"-16

82%y—6xy:=2xy4x—3y) @B

@ 2*—xy—6y>=(x+2y(x—3y)

HREREFERNEEES

® 3x2-10x+8=(x—2)3x—4) 1><—2 — —6
3 —4 — —4
3 8 —-10

(x—T)?2—3(x—7)—10=A%—-3A4-10
(A+2)(A-5)
=(x—T+2)(x—7-5)
=(x—5)(x—12)

@ x-T=A&BCE

® x24+3xy+2y%+2x—y—15 1

3 —> _§
=224+ (3y+2)x+(2y2—y—15) 2>< 5 — §
=x24+3y+2)x+(y—3)2y+5) 2 _15 1
=(x+y—3)Nx+2y+5)

' ‘ 1 y—3 — y-3
1 2y+5 — 2y+5

1 (y=3)(2y+5) 3y+2

(BEAME] ROBHEALZE L,
1) 12]-17] DEERDET S,
2) ROHEEZELEIVORPBOFBELEELEZL),

@ VIZ+VET /B @ (64vZ)?E @ —

(B) RMD1RXRFEHR, EUFHFAEMEL I,
2x<x+5
@ {4x+3<2x+7

@® 2x—-3=6x+5

[HEDR S L]

(1) BAEDOHINTE SN,

(2) BEZECHANTESD,

(3) 1RFERX, EIFFIANETIH,

(%]
1) |12|-7] =2-7=-5 B

2) @ V12 +27 +/48 =23 +3/3 +4/3 =93

@ (V6+v2)??=v6%+2-1/6-V2 +V22=6+2/12 +2=8+43

® 1 J3 -1 V3 -1 3-1 o
V3+1 (V3413 -1 3-1 2 —

3 @ 2x—3=6x+5 &Y —4x2=8 WAZ-4TH-HT, x=-2

2x<x+5 ......... (A)
@ 4x+3<2x+T(B) £7%.
(A)kY <5 (A

NC/
b

(B)kY 2x<4 &oT, <2 (BY
(AY, (BY mit@OHEZRD T,

x<2 B

[BEME] ROFEX, FEXZHELSL,
1) |z—1=2 2 lz|>4

[HEDR S L]
(1) BREZECHBRISETIH0
2) BAEEZESTTEANETI,.

[fR%]
1) |x—=1=2 &Y, x—1=42 &oT, 2=3,

-1 &

2 lxl>4 &Y, x<—4, 4<x




[EIRME] ROZBIZEZLZ S,

(1) £4&(a, b) OBIERE, TRTESHE,

(2 U=(1,2,3, 4,5 6 7 22%EKELTD. UOBAEKE
A={l, 2, 3}, B={2, 4, 6} ITDW\T, ROEEGERHIT I,

® AuB @ A
(3) E#a, bI2D2VT, ROGARKBTHD. REZEHITHSL,
ab=0=a=0HmD0=0

4) RO ( )DHIZ, BE, +9, BE+TS/D055, RLBEUELDEAN
TEL,
s NEHOELE, s>1F >3 THE-HD( )EHETHS,

(B) % YIREETE. FHET2x=10Dy>0] OEFEEFETEESHIL,

[HEDR S L]

(1) BoEEZETRTHITFLNDD,

(2) TNEE, HESETHELTLSD,

B) BTHIAGHEORAELTFOADD,

4) WE, +9 DEITIFHZERLTLDEID,
(5) FHOBENRRDOINZH,

(%]

1) ROETHS. &, {a], (0], {a,0) B

(2) ® A:{l, 2, 3}, B:{Z’ 4, 6} DHESEMD,
AuB={1, 2, 3, 4, 6}

@ 2BK%KBU={1 2,3, 4,5 6, 7 CETIHELETHIMNE,

A ={4,5,6, 7)

(B) a=0, b=11[%, ab=0THZBH, a=0HD b=0 TlHL,
£-T, ROV EDE, a=0, b=1 B

4 2>1=x>3 FBTHY (RFIx=2) ,
2>11F2>3 THAIHD REEHETHD. B

G) xx1FflE y=<0

2>3=1x1>1 RETHZIH D,

[EIRME] ROZBIZEZLELY,

) 2REM y=—(x+12+2 DTS ITOMEERERDESY,

) 2REE y=—(x+12+2 DTS5 7ELELHIL,

3) 2REAM y=322—62+5% y=alx—p) +q OWICTERLE S,

) W y=x2+4x—-3 %, r#ARIC ], yEARIZ -3 RHETBESLE

tE, BRROBMBROFEIERDLETL,

5) FAOREA10m, HORESArm, BEA yMTHIRABEEZD L,
yExDEBTHD, yE rDXTRLASY, T, COBRBOERRE
ROGEEL,

—

(HEDR L]

(1) FARFESAEADNETS7OMEERERDOADIN,
(2) 2REABDTZ 78 TEh,

() FAREETZEMD.

(4) FOIBBRLEBMREROOADD,

(B) XEZEHBRAT, EBRERDDIENTEDD,

(%]

(1) BMEIERx=-1) ERER(-1, 2) &

2 THE &

[E

(38) y=3x2—6x+5
=3(x2—-2x)+5
3(x—1)7%-1}+5
3(x—172-3+5
3(x—1)2+2

(4)

y=x2+4x-3 =(x+2)2—4-3=(x+2)2-7
&V, BMBOERIER (-2, =7) THD. COEREF#BMAERAIZ,
yEIAMIZ —3 T ETBELEAX,
(—24+1, -7-3) &V, (-1, —10)
Lt=t>T, ROIZBMBOFBRRIE, y=(x+1)2-10
&Y, y=x2%+2x-9

AOEEIN10m, ORI rm &Y, BOEZIFEG5-—2)mTHEHD
EAROBER yI& y=25—2) JThbb, y=—22+5x
Ff, RAROIBORSTHSAN L, EHRET
x>0 HD 5—-x2>0 &V
2>0 HD 5>x FThbbt 0<x<5

[(RREE] ROEM-EARE L,

(1)

(2)

3)

(4)

100 UTHOBARENSE, ROESGHOBEBHRERDGE S,

@ 4TEYINEH @ 3FrF4THYNNSZE
AP IBEDOSVCAHZERITHEE, BOMA 6 (CHDIBEIF
FEYHEINBFALGSL,

S5ED¥MFL 2 3, 4 5 21T 2E-T5HOEYEHES,
ROBITFEHEDRHEELY,

@® 5HDEHR @ 5HDER

20 A0S 2 NODZERERSHFHERMEY HEMBERILEL,

[

1

FhRib ]
BEHROEROBEREHT ENTE N,

(1

(2 BMAEFRZCENTESN,

() MEFOHIANTESH,

(4) HMAEZEEMLTLSD,

[BE]

1) 100 U THOBERKELEDERZUEL, UDEHREST, 4 TEIVYHI I

LHEDEAEA, 3THYYAIBLEDERAEB ET 5L,

® A:{4.]_' 4.2' 4.3' ...... s 4.25}
koT, EROEKIE n(A)=25 Li=M->T 2@ B

@ n(AUB)Z#ROhIFELLN,

B=(3-1, 3.2, 3-3, - . 3-33) &Y =x(B)=33
AnB={12-1, 12-2, 12-3, - . 12-8) &Y #(ANB)=8
&2T, n(AUB)=n(A)+n(B)—n(ANB)
=25+33—-8=50 Li#->T 50 B
(2) ZROBEBEIZEY 108Y B
® )
1— 4
2—— 3
-
41— 1
1— 3
2<§Ez———2
3— 1
1—2
=1
4—1——1
3) @ SEDHMFELAINCERZIENOBRBTHSM D,
5!=5-4-3-2-1=120 Lt=n->T 1208 &

@ —DHE2F-ZATHEIND, BUASE2EY,
thotizix, BYDLEORFEUERZMD, 41:EY,
&oT, ROZBEHIZ, WoOEBIZ&Y

41%x2=4-3-2-1x2=48 Lt=-M->T 48 &
(4) 20 ADD 2 AEBSHMACHETHIND,
wC=2 10190 LtmtoT 190E @




